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Find the domain of each function and the equations of the vertical or horizontal asymptotes, if any.
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For each function, determine any vertical and horizontal asymptotes and intercepts. Then graph the function, and state its domain.
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For each function, determine any vertical and horizontal asymptotes and intercepts. Then graph the function, and state its domain.
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For each function, determine any vertical and horizontal asymptotes and intercepts. Then graph the function, and state its domain.
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For each function, determine any vertical and horizontal asymptotes, holes, and intercepts. Then graph the function and state its domain.
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Solve each equation.
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